
EO5 1 MASTER SET

CÎma àXoe AYrZñW godm M`Z Am`moJ, bIZD$
{dkmnZ g§»`m-06-narjm/2023, ZoÌ narjU A{YH$mar (gm_mÝ` M`Z)

_w»` narjm (àm.A.n.- 2022)/06
CÎma H§w$Or (_mñQ>a goQ>)

QP Code : EO5 narjm {V{W : 19-01-2025

1.
{ZåZ{b{IV _| go H$m¡Z-gm D$VH$ eara Ho$ A§Jm| H$mo Omo‹S>Vm h¡ Am¡a ghmam XoVm h¡ VWm Hw$N> nXmWm] H$m n[adhZ `m
^§S>maU H$aVm h¡ ?
g§`moOr D$VH$

Which of the following tissues connect and support parts of the body and transport or store
materials ?
Connective tissues

2.
eara H$m EH$ AZwàñW goŠeZ> Bgo {ZåZ _| {d^m{OV H$aVm h¡
D$nar Am¡a {ZMbm ^mJ

A transverse section of the body divides it into
Upper and lower portions

3.
{ZåZ{b{IV _| go H$m¡Z-gr à{H«$`mE± M`mnM` _| em{_b h¢ ?

~‹T>Zm, _aå_V H$aZm, à{V{H«$`m XoZm Am¡a àOZZ H$aZm

Which of the following processes are included in metabolism ?
Growing, repairing, reacting and reproducing

4.
do {~§Xw Ohm± D$nar Am¡a {ZMbr nbH|$ {_bVr h¢, CÝh| Bg àH$ma OmZm OmVm h¡

_Ü` Am¡a nmíd© H¢$Wr

The points where the upper and lower eyelids meet are known as
Medial and lateral canthi

5.
nbH$ (npën~«r) eãX H$m AW© Š`m h¡ ?
ZoÌJmobH$ Ho$ D$na H$s ËdMm, _m±gno{e`m| Am¡a CnmpñW H$s EH$ J{Verb Vh

What does the term palpebrae mean ?
A movable fold of skin, muscle and cartilage over the eyeball
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6.
å ỳH$moŠ ỳQ>oZr`g O§ŠeZ AWdm J«o bmBZ H$hm± pñWV hmoVr h¡ ?
AmBb¡e Ho$ R>rH$ nrNo

Where is the mucocutaneous junction or gray line located ?
Just posterior to the eyelashes

7.
{ZåZ{b{IV _| go H$m¡Z-gr H$m°{Z©`m H$s EH$ à_wI {deofVm h¡ ?
`h J¡a-g§dhZr, nmaXeu D$VH$ h¡ Omo àH$me H$mo And{V©V H$aVm h¡ &

Which of the following is a key characteristic of the cornea ?
It is an avascular, transparent tissue that refracts light

8.
H$m¡Z-gr H$nmb V§{ÌH$m Am°{~©Š ẁb[ag AmoHw$br _m±gnoer H$mo _moQ>a B§Zd}eZ àXmZ H$aVr h¡ ?
gmVdt H$nmb V§{ÌH$m (Mohao H$s V§{ÌH$m)

Which cranial nerve provides motor innervation to the orbicularis oculi muscle ?
Seventh cranial nerve (Facial nerve)

9.
ñdm`Îm V§{ÌH$m V§Ì H$m H$m¡Z-gm ^mJ nbH$m| Am¡a Am°{~©Q> H$s ñ_yX _m±gno{e`m| H$mo g{H«$` H$aVm h¡ ?
{gånoWo{Q>H$ {S>drOZ

Which part of the autonomic nervous system activates the smooth muscles of the eyelids and
orbit ?
Sympathetic division

10.
½bmo~ (ZoÌJmobH$) H$s COmJa gVh H$mo H¡$go Z_ aIm OmVm h¡ ?
b¡{H«$_b V§Ì go òm{dV Am±gy Ûmam

How is the exposed surface of the globe (eyeball) kept moist ?
By tears secreted from the lacrimal apparatus

11.
b¡{H«$_b V§Ì Ûmam Am±gy òmd H$s AZw_m{ZV gm_mÝ` X¡{ZH$ (24 K§Q>o) Xa Š`m h¡ ?

0.75 go 1.1 J«m_

What is the estimated normal daily (24 hours) rate of tear secretion by the lacrimal
apparatus ?
0.75 to 1.1 grams

12.
Q́>m§gnmo{µOeZ Ho$ Xm¡amZ Aj H$mo {H$VZm ~XbZm Mm{hE ?

90 {S>J«r

How much should the axis be changed during transposition ?
90 degrees
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13. W_©b BboŠQ>́mo_¡½Zo{Q>H$ {d{H$aU Ho$ g§X ©̂ _| EH$ ãb¡H$~m°S>r Š`m h¡ ?
EH$ AmXe© {n§S> Omo g^r Amn{VV {d{H$aUm| H$mo Ademo{fV H$aVm h¡ Am¡a AnZo n[adoe Ho$ gmW D$î_r` g§VwbZ ~ZmE aIZo
Ho$ {bE n`m©ßV _mÌm _| nwZ:CËg{O©V H$aVm h¡

What is a blackbody in the context of thermal electromagnetic radiation ?
An ideal body that absorbs all incident radiation and reemits enough to maintain
thermal equilibrium with its surroundings

14. EH$ àH$mer` àUmbr Ho$ _mÜ`_ go EH$dUu àH$me Ho$ àgma H$m {díbofU H$aZo H$s EH$ gm_mÝ` {d{Y _| H$m°åßboŠg
_mZ dmbo _______ OmoÝg _¡{Q́>gog H$m Cn`moJ H$aZm em{_b h¡ &
2 × 2
A common method of analyzing the propagation of monochromatic light through an optical
system involves using the complex valued ______ Jones matrices.
2 × 2

15. B§Q>a\o$amo_rQ>a Ho$ Am{dîH$ma H$m lo` {H$go {X`m OmVm h¡ ?
Aë~Q>© E. _mBH$bgZ

Who is credited with the invention of the interferometer ?
Albert A. Michelson

16. H$m°ÝQ>¡ŠQ> b|g Ho$ g§X ©̂ _| ""EO Šbr`a|g'' H$m Š`m _Vb~ h¡ ?
H$m°{Z©`m H$s gm_Zo H$s gVh Am¡a no[a\o$ab H$d© H$s {nN>br gVh Ho$ ~rM H$m A§Va

What does ‘‘edge clearance’’ refer to in the context of contact lenses ?
The gap between the front surface of the cornea and the back surface of the peripheral
curves

17.
H$m°ÝQ>¡ŠQ> b|g _| {àÁ_ ~¡bmñQ> H$m Cn`moJ H$aZo H$m Š`m ZwH$gmZ h¡ ?
`h {ZMbo {H$Zmao H$mo _moQ>m ~ZmgH$Vm h¡, {Oggo g§̂ m{dV ê$ngo Agw{dYm hmo gH$Vr h¡

What is a disadvantage of using prism ballast in contact lens ?
It can make the lower edge thicker, potentially leading to discomfort

18.
_______ amoJ _| eara H$s g§aMZm Am¡a H$m ©̀ _| n[adV©Z H$m d¡km{ZH$ AÜ``Z h¡ &
n¡Wmobm°Or

__________ is the scientific study of changes in the structure and function of the body in
disease.
Pathology

19.
ao{Q>ZmoñH$monr H$m àmW{_H$ CÔoí` Š`m h¡ ?
Am±I H$s AndV©H$ Ìw{Q> H$mo {Zînj ê$n go {ZYm©[aV H$aZm

What is the primary purpose of retinoscopy ?
To objectively determine the refractive error of an eye
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20.
{ZåZ{b{IV _| go H$m¡Z-go ao{Q>ZmoñH$mon Ho$ Xmo _w»` àH$ma h¢ ?
ñnm°Q> Am¡a ñQ´>rH$

Which of the following are the two principal types of retinoscope ?
Spot and Streak

21. Am±I _| AndV©H$ Ìw{Q> H$m Š`m AW© h¡ ?
Am±I Xya Ho$ òmoV go àH$me H$mo nyar Vah go ao{Q>Zm na H|${ÐV Zht H$a gH$Vr

What does refractive error in the eye imply ?
The eye cannot focus light from a distant source perfectly on the retina

22. ÑpîQ>d¡få` S>m`b EH$ MmQ>© h¡ {Og_| hmoVo h¢
ao{S>`b aoImE±

The astigmatic dial is a chart with
Radial lines

23. EH$ {gb|S>a nmda go Xygao _| _mn `m {àpñH«$ßeZ H$mo ~XbZo H$s à{H«$`m H$mo Š`m H$hVo h¢ ?
Q>́m§gnmo{µOeZ

What is the process of changing a measurement or prescription from one cylinder power to
the other called ?
Transposition

24.
Q́>m§gnmo{µOeZ Ho$ Xm¡amZ {gb|S>a Ho$ {M• H$m Š`m hmoVm h¡ ?
`h YZ go F$U `m F$U go YZ _| ~Xb OmVm h¡

What happens to the cylinder sign during transposition ?
It changes from plus to minus or minus to plus

25. {ZåZ{b{IV _| go H$m¡Z-gm b|g {àpñH«$ßeZ Ho$ Q>́m§gnmoqOJ H$m MaU Zht h¡ ?
Aj _mZ H$mo Xmo go JwUm H$aZm

Which of the following is not a step in transposing a lens prescription ?
Multiply the axis value by two

26. Eå_oQ́>mo{n`m eãX {H$ggo g§~§{YV h¡ ?
Am±I _| AndV©H$ Ìw{Q> H$s AZwnpñW{V

What does the term emmetropia refer to ?
Absence of refractive error in the eye

27.
Am±I H$s AndV©H$ Ìw{Q> H$mo `h ^r H$hm OmVm h¡
E_oQ>́mo{n`m

Refractive error of an eye is also called as
Ametropia
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28.
{H«$ßQ>moâWmë_mog Š`m h¡ ?
nbH$m| H$s Hw$b AZwnpñW{V

What is cryptophthalmos ?
Total absence of eyelids

29.
{g{bAar ~m°S>r Ho$ {d{eîQ> H$mobmo~mo_m An[ad{V©V ê$n go nmE OmVo h¢
Q>́mBgmo_r 13

The typical colobomas of the ciliary body are invariably found in
trisomy 13

30.
ÑpîQ>d¡få` H$m nVm bJmZo Ho$ {bE H$m°{Z©`m na g§H|${ÐV db`m| _| _mBH«$moñH$mon àH$me H$mo namd{V©V H$aZo Ho$ {bE
Cn`moJ {H$E OmZo dmbo e§Hw$ Ho$ AmH$ma Ho$ CnH$aU H$m Zm_ Š`m h¡ ?
Ho$amQ>mo_rQ>a

What is the name of the cone-shaped instrument used to reflect microscope light in concentric
rings on the cornea to detect astigmatism ?
Keratometer

31.
ZoÌ{dkmZ _| >Eb.AmB©.Amo. H$m nyU© ê$n Š`m h¡ ?
boOa BZS>m`aoŠQ> Am°âWmë_moñH$monr

What is the full form of LIO in ophthalmology ?
Laser Indirect Ophthalmoscopy

32.
pñbQ> b¢n H$m Cn`moJ H$aHo$ {ZåZ{b{IV _| go H$m¡Z-gr à{H«$`m H$s Om gH$Vr h¡ ?
Cn`w©ŠV g^r

Which of the following procedures can be performed using a slit lamp ?
All of the above

33.
EZ.Eg.E.AmB©.S>r. H$m nyU© ê$n Š`m h¡ ?
Zm°Z-ñQ>oam°̀ S>b> E§Q>r-B§âbo_oQ>ar S>́½g

What is the full form of NSAID ?
Non-Steroidal Anti-Inflammatory Drugs

34.
{ZåZ{b{IV _| go H$m¡Z-gm Ś>J ½byH$mo_m Ho$ CnMma _| Cn`moJ H$s OmZo dmbr àmoñQ>m½b¢S>rZ EZmbm°J h¡ ?
b¡Q>mZmoàmoñQ

Which of the following drugs is a prostaglandin analog used in glaucoma treatment ?
Latanoprost

35.
ewîH$ ZoÌ amoJ Ho$ CnMma Ho$ {bE Am_Vm¡a na {H$g Bå ỳZmo_m°>S>çwboQ>a H$m Cn`moJ {H$`m OmVm h¡ ?
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gmBŠbmoñnmo[aZ

Which immunomodulator is commonly used to treat dry eye disease ?
Cyclosporine

36.
{ZåZ{b{IV _| go {H$g ~¡ŠQ>r[a`m _| H$R>moa H$mo{eH$m {^{Îm Zht hmoVr h¡ ?
_mBH$moßbmÁ_m

Which of the following bacteria lack rigid cell walls ?
Mycoplasmas

37.
{ZåZ{b{IV _| go H$m¡Z H$R>moa H$mo{eH$m {^{Îm Am¡a EH$ Šbm{gH$ H$mo{eH$m Zm{^H$ dmbr J¡a-J{Verb ỳH¡$[a`moQ²>g H$m
dU©Z H$aVm h¡ ?
H$dH$

Which of the following describes non-motile eukaryotes with rigid cell walls and a classic cell
nucleus ?
Fungi

38.
amoHo$ Om gH$Zo dmbo Am¡a BbmO `mo½` A§YonZ H$m `moJ H$hbmVm h¡
Q>mbo Om gH$Zo dmbm A§YmnZ

The sum of preventable and curable blindness is called as
Avoidable blindness

39.
b|g _mC§Q> _| g§nH©$ VZmd H$mo H$_ H$aZo Ho$ {bE {H$g àH$ma H$m B§Q>aµ\o$g g~go à^mdr h¡ ?
JmobmH$ma B§Q>aµ\o$g

Which kind of interface is most effective for reducing contact stress in lens mounts ?
Spherical interface

40.
ßbmpñQ>H$ Am°pßQ>Šg Ho$ bm^ _| em{_b h¡
Cn`w©ŠV g^r

Advantages of plastic optics includes
all of the above

41.
dh Amdmg Omo EH$ Xÿgao Ho$ gmnoj ghr pñW{V _| H$B© b|g aIVm h¡
Cn`w©ŠV _| go H$moB© Zht

The housing that holds multiple lenses in the correct position relative to each other is
None of the above

42.
OZJUZm go gd}jU {H$g àH$ma {^ÝZ h¡ ?
Cn`w©ŠV _| go H$moB© Zht
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How does a survey differ from a census ?
None of the above

43.
OZg§»`m d¥{Õ {H$gH$m \$bZ h¡ ?
Cn`w©ŠV g^r

Population growth is a function of
All of the above

44.
àH$me Va§Jm| Ho$ EH$ Xÿgao Ho$ gmW MaU _| hmoZo H$m n[aUm_ Š`m h¡ ?
gwg§J{V

What is the result of light waves being in phase with one another ?
Coherence

45. gm_wXm{`H$ ZoÌ {dkmZ H$mo `h ^r H$hm OmVm h¡

B) Am¡a C) XmoZm|

Community ophthalmology is also known as
Both B) and C)

46.
ZoÌ {dkmZ Ho$ joÌ _| EZ.nr.gr.~r. H$m Š`m AW© h¡ ?
Z¡eZb àmoJ«m_ \$m°a H$ÝQ>́mob Am°\$ ãbmBÊS>Zog

What does NPCB stand for in the field of ophthalmology ?
National Program for Control of Blindness

47.
E{e`m _| A§YonZ Ho$ Š`m H$maU h¢ ?
Cn`w©ŠV g^r

What are the causes of blindness in Asia ?
All of the above

48.
àH$me Ho$ Va§J-H$U Û¡V H$m à{VnmXZ {H$gZo {H$`m ?
bwB©g {S>~«m°Jbr

Who postulated the wave-particle duality of light ?
Louis deBroglie

49. {ZåZ{b{IV _| go H$m¡Z-gr boµOa àH$me H$s {deofVm Zht h¡ ?
{ddV©Z

Which of the following is not a property of laser light ?
Diffraction

50. ñZob Ho$ {Z`_ H$m Cn`moJ {H$gHo$ dU©Z Ho$ {bE {H$`m OmVm h¡ ?
àH$me H$m AndV©Z
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Snell’s Law is used to describe
Refraction of light

51. H$m¡Z-gr à{H«$`m _w»` ê$n go boOa àH$me CËnÝZ H$aVr h¡ ?
CÎmo{OV CËgO©Z

Which process primarily produces laser light ?
Stimulated emission

52. {ZåZ{b{IV _| go H$m¡Z-gm nhbm J¡g boOa Wm {Ogo g\$bVmnyd©H$ g§Mm{bV {H$`m J`m Wm ?

He – Ne boOa

Which of the following was the first gas laser to be operated successfully ?
He – Ne laser

53. {ZåZ{b{IV _| go H$m¡Z-gm Ñí` joÌ _| g~go ì`mnH$ ê$n go Cn`moJ {H$E OmZo dmbo Q>çyZo~b boOa _| go
EH$ h¡ ?
Am°J}{ZH$ S>mB© boOa

Which of the following is one of the most widely used tunable lasers in the visible region ?
Organic dye laser

54. gO©ar go nhbo g{O©H$b hmW H$s V¡`mar Ho$ {bE Š`m A{Zdm`© h¡ ?
Cn`w©ŠV _| go H$moB© Zht

What is mandatory for surgical hand preparation prior to surgery ?
None of the above

55. {ZåZ{b{IV _| go H$m¡Z-gr àH$me H$s ghr n[a^mfm h¡ ?
_mZd Am±I H$mo {XImB© XoZo dmbm {dÚwV Mwå~H$s` {d{H$aU H$m EH$ ê$n

Which of the following is a correct definition of light ?
A form of electromagnetic radiation visible to the human eye

56. amoJmUwamoYr EO|Q>m| Ho$ ~mao _| H$m¡Z-gm H$WZ ghr h¡ ?
nmo{dS>moZ-Am`moS>rZ Ho$ à`moJ Ho$ ~mX VoOr go nwZd©¥{Õ hmoVr h¡, bo{H$Z ŠbmoahopŠg{S>Z Ho$ à`moJ Ho$ ~mX Zht

Which statement is correct about antimicrobial agents ?
Rapid regrowth occurs after the application of povidone-iodine but not after the use of
chlorhexidine

57. {díd Amamo½` g§JR>Z Ho$ AZwgma, C{MV hmW YmoZo H$s VH$ZrH$ _| {H$VZo MaU em{_b h¢ ?
7
According to World Health Organisation, how many steps are involved in the proper
handwashing technique ?
7
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58.
~o{gH$ bmB\$ gnmoQ>© _| gr.nr.Ama. H$m Š`m AW© h¡ ?
H$m{S>©̀ mo në_moZar [ag{gQ>oeZ

What does CPR in Basic Life Support stand for ?
Cardio Pulmonary Resuscitation

59.
~o{gH$ bmB\$ gnmoQ>© _| E.B©.S>r. H$m Š`m AW© h¡ ?
Am°Q>mo_oQ>oS> EŠñQ>Z©b {S>\$mB{~«boQ>a

What does AED stand for in Basic Life Support ?
Automated External Defibrillator

60.
_________ H$m{S>©`H$ AaoñQ> H$m EH$ gm_mÝ` amoH$Wm_ `mo½` H$maU h¡ &
ídmgmdamoY (MmoqH$J)

________ is a common preventable cause of cardiac arrest.
Choking

61.
b§~o g_` VH$ Mí_m nhZZo dmbo bmoJm| Ho$ {bE Cn ẁŠV Q>oånb H$mo Š`m H$hVo h¢ ?
ñH$b Q>oånb

The temple that is suitable for people who wear their eyeglasses for long periods is called a
Skull temple

62.
{H$g àH$ma Ho$ Q>oånb _| Kw_mdXma B`anrg hmoVm h¡ Omo H$mZ Ho$ Mmam| Amoa {\$Q> hmoVm h¡ ?
Cn`w©ŠV _| go H$moB© Zht

Which temple type has a curved earpiece that fits around the ear ?
None of the above

63.
H$m¡Z-gm Q>oånb CZ bmoJm| Ho$ {bE g~go Cn ẁŠV h¡ {OÝh| AŠga AnZm Mí_m hQ>mZo H$s µOê$aV hmoVr h¡ ?
bmB~«oar Q>oånb

Which type of temple is most suitable for people who need to remove their spectacles often ?
Library temple

64.
H$_ ÑpîQ> {M{H$Ëgm _| ÑpîQ> d¥{Õ Ho$ {bE ghm`H$ gmYZm| Am¡a CnH$aUm| Ho$ Cn`moJ _| à{ejU ^r àXmZ {H$`m OmZm
Mm{hE, O¡go {H$
Cn`w©ŠV _| go H$moB© Zht

Low vision therapy should also provide training in the use of aids and appliances for vision
enhancement, such as
None of the above
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65.
~wOwJm] H$s H$_ ÑpîQ> à~§YZ H$mo CZH$s _________ pñW{V Ho$ g§X ©̂ _| XoIm OmZm Mm{hE &
g_J« ñdmñÏ`

Low vision management of the elderly has to be seen within the context of their _______
status.
Overall health

66.
H§$ß ỳQ>a ~ZmZo H$m nhbm {díd{dÚmb`-AmYm[aV à`mg Š`m Wm ?
Am`modm ñQ>oQ> {díd{dÚmb`

What was the first university-based attempt to build a computer ?
Iowa State University

67.
{H$g àH$ma H$m Q>{_©Zb S>oQ>m H$mo àmogog `m ñQ>moa Zht H$aVm h¡ ?
S>§~ Q>{_©Zb

What type of terminal does not process or store data ?
Dumb terminal

68.
µ\$mBb ~¡H$An Š`m h¡ ?
S>oQ>m H$s à{V{b{n ~ZmZo Am¡a g§J«hrV H$aZo H$s à{H«$`m

What is file backup ?
The process of creating and storing a copy of data
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69.
gyMr – I H$mo gyMr – II go gw_o{bV H$s{OE Am¡a gy{M`m| Ho$ ZrMo {X ò J ò Hy$Q> H$m à`moJ H$aHo$ ghr CÎma Mw{Z ò &

gyMr – I gyMr – II
1. EëJmo[aW_ a. gyMZm à{H«$`mAm| H$m AÜ``Z

2. à{H«$`m b. AZmdí`H$ {ddaUm| H$mo hQ>mH$a O{Q>b AdYmaUmAm| H$mo gab ~ZmZo H$s à{H«$`m

3. A_yV©Z c. EH$ Eogr à{H«$`m H$m dU©Z H$aVm h¡ Ohm± àË òH$ MaU nydm©Zw_m{ZV VarHo$ go pñW{V H$mo
~XbVm h¡

4. H§$ß ỳQ>a {dkmZ d. MaUm| H$m EH$ AZwH«$_ Omo ~VmVm h¡ {H$ {H$gr {d{eîQ> bú` `m à{H«$`m H$mo H¡$go àmßV
{H$`m OmE

Hy$Q> :
1 2 3 4
d c b a
Match List – I with List – II and select the correct answer by using the code given below the
lists.

List – I List – II
1. Algorithm a. The study of information processes
2. Procedure b. A process of simplifying complex concepts by removing

unnecessary details
3. Abstraction c. Describes a process where each step changes the state in a

predictable manner
4. Computer d. A sequence of steps

Science that describes how to achieve a specific goal or process

Code :
1 2 3 4
d c b a
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70.
gyMr – I H$mo gyMr – II go gw_o{bV H$s{OE Am¡a gy{M`m| Ho$ ZrMo {X ò J ò Hy$Q> H$m à`moJ H$aHo$ ghr CÎma Mw{Z ò &

gyMr – I gyMr – II
1. W«ynwQ> a. EH$ _o{Q́>H$ Omo g_` H$s à{V BH$mB© _| H§$ß ỳQ>a Ûmam {Zînm{XV H$m`m] H$s g§»`m H$mo _mnVm

h¡

2. K‹S>r H$s J{V b. JUZm H$mo J{V XoZo Ho$ {bE H$m`m] H$mo H$B© àmogogam| _| {dV[aV H$aZo H$s à{H«$`m

3. g_mZm§Va H§$ß ỳqQ>J c. BZnwQ> AmH$ma Ho$ g§X^© _| {H$gr EëJmo[aW_ H$s XjVm H$m dU©Z H$aZo Ho$ {bE Cn`moJ
{H$`m OmZo dmbm EH$ T>m±Mm

4. {~J-Amo d. dh Xa {Og na S>oQ>m H$mo
ZmoQ>oeZ g§gm{YV `m ñWmZm§V[aV {H$`m Om gH$Vm h¡, {Ogo AŠga à{V goH§$S> {~Q²>g _| _mnm

OmVm h¡
Hy$Q> :
1 2 3 4
d a b c

Match List – I with List – II and select the correct answer by using the code given below the
lists.

List – I List – II
1. Throughput a. A metric that measures the number of operations performed by a

computer per unit of time
2. Clock Speed b. The process of distributing tasks across multiple processors to speed

up computation
3. Parallel c. A framework used

Computing to describe the efficiency of an algorithm in terms of input size
4. Big-O Notation d. The rate at which data can be processed or transferred, often

measured in bits per second
Code :
1 2 3 4
d a b c

71.
B§Q>aZoQ> Am°\$ qW½g (AmB©.Amo.Q>r.) Ho$ g§X ©̂ _| ""Ama.E\$.AmB©.S>r.'' H$m AW© Š`m h¡ ?
ao{S>`mo µ\«$sŠd|gr AmBS>|{Q>{\$Ho$eZ

What does the ‘‘RFID’’ stand for, in the context of Internet of Things (IoT) ?
Radio Frequency Identification

72.
Eg.E_.Q>r.nr. H$m nyam Zm_ Š`m h¡ ?
qgnb _ob Q>́m§gµ\$a àmoQ>moH$m°b

What is the full form of SMTP ?
Simple Mail Transfer Protocol
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73.
S>r.nr.AmB©. H$m _Vb~ Š`m h¡ ?
S>m°Q²>g na B§M

DPI stands for
Dots Per Inch

74.
gyMr – I H$mo gyMr – II go gw_o{bV H$s{OE Am¡a gy{M`m| Ho$ ZrMo {X ò J ò Hy$Q> H$m à`moJ H$aHo$ ghr CÎma Mw{Z ò &

gyMr – I gyMr – II
1. {~Q> a. 8 {~Q²>g go ~Zm, EH$ Aja `m S>oQ>m Ho$ EH$ N>moQ>o Qw>H$‹S>o H$m à{V{Z{YËd H$aZo

Ho$ {bE Cn`moJ {H$`m OmVm h¡

2. ~mBQ> b. 1024 ~mBQ²>g, Am_Vm¡a na Q>oŠñQ> `m B_oO O¡gr N>moQ>r µ\$mBbm| Ho$ {bE Cn`moJ {H$`m
OmVm h¡

3. {H$bmo~mBQ> (KB) c. 1024 {H$bmo~mBQ²>g>, Am_Vm¡a na XñVmdoµO, N>moQ>o dr{S>`mo `m gm°µâQ>dò a O¡go S>oQ>m
H$mo _mnZo Ho$ {bE Cn`moJ {H$`m OmVm h¡

4. _oJm~mBQ> (MB) d. 1024 _oJm~mBQ²>g>, Am_Vm¡a na CÀM JwUdÎmm dmbo dr{S>`mo `m ~‹S>o àmoJ«m_ O¡gr
~‹S>r µ\$mBbm| Ho$ {bE Cn`moJ {H$`m OmVm h¡

5. JrJm~mBQ> (GB) e. gyMZm H$s g~go N>moQ>r BH$mB©, Omo ~mBZar AdñWm (0 `m 1) H$mo Xem©Vr h¡
Hy$Q> :
1 2 3 4 5
e a b c d
Match List – I with List – II and select the correct answer by using the code given below the
lists.

List – I List – II
1. Bit a. Composed of 8 bits, used to represent a character or a small piece

of data
2. Byte b. 1024 bytes, commonly used for small files such as text or images
3. Kilobyte (KB) c. 1024 kilobytes, typically used to measure data like documents,

small videos or software
4. Megabyte (MB) d. 1024 megabytes, commonly used for larger files like high-quality

videos or large programs
5. Gigabyte (GB) e. The smallest unit of information, representing a binary state

(0 or 1)

Code :
1 2 3 4 5
e a b c d
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75.
gyMr – I H$mo gyMr – II go gw_o{bV H$s{OE Am¡a gy{M`m| Ho$ ZrMo {X ò J ò Hy$Q> H$m à`moJ H$aHo$ ghr CÎma Mw{Z ò &

gyMr – I gyMr – II

1. Anmobmo JmBS>Ýg a. 64 KB S>oQ>m ñQ>moa H$a
H§$ß ỳQ>a (E.Or.gr.) gH$Vm h¡

2. Anmobmo JmBS>Ýg > b. dOZ 70 nmC§S> Am¡a
H§$ß ỳQ>a (E.Or.gr.) Am`VZ bJ^J 1 KZ
H$s ^§S>maU j_Vm \w$Q>

3. Anmobmo JmBS>Ýg c. _mBH«$moàmogogam|, CÀM j_Vm
H§$ß ỳQ>a (E.Or.gr.) §̂S>maU H$m Cn`moJ H$aVm
H$s àg§ñH$aU epŠV h¡ Am¡a H$m`m©b` H$m ©̀, Joq_J, Am{X O¡go gm_mÝ` à`moOZ H§$ß ỳqQ>J H$m`m] Ho$ {bE

gj_ h¡

4. AmYw{ZH$ b¡nQ>m°n d. AmYw{ZH$ _mZH$m| H$s VwbZm _| ~hþV gr{_V àg§ñH$aU epŠV Wr {Ogo {~Q²>g Am¡a
Šbm°H$ ñnrS> _| _mnm OmVm Wm

Hy$Q> :

1 2 3 4

b a d c
Match List – I with List – II and select the correct answer by using the code given below the
lists.

List – I List – II
1. Apollo Guidance a. Can store 64 KB of

Computer (AGC) data

2. Storage Capacity b. Weighed 70 pounds
of Apollo Guidance and had a volume of
Computer (AGC) about 1 cubic foot

3. Processing power c. Uses micro-
of Apollo Guidance processors,
Computer (AGC) high-capacity storage and is capable of general-purpose

computing tasks like office work, gaming, etc.
4. Modern Laptop d. Had very limited processing power compared to modern

standards, measured in terms of bits and clock speed

Code :

1 2 3 4

b a d c
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76. gyMr – I H$mo gyMr – II go gw_o{bV H$s{OE Am¡a gy{M`m| Ho$ ZrMo {X ò J ò Hy$Q> H$m à`moJ H$aHo$ ghr CÎma Mw{Z ò &
gyMr – I gyMr – II

1. {à{_{Q>d a. do {Xem{ZX}e `m {gÕm§V Omo ~VmVo h¢ {H$ gab BH$mB m̀| H$mo {H$g àH$ma g§̀ mo{OV H$aHo$ ~‹S>r
g§aMZmE± ~ZmB© Om gH$Vr h¢ (O¡go, eãX, dmŠ`m§e, dmŠ`)

2. g§`moOZ Ho$ gmYZ b. AW© H$s g~go N>moQ>r BH$mB`m± {OÝh| AmJo {d^m{OV Zht {H$`m Om gH$Vm

3. AZ§V ^mfmE± c. {H$gr ^mfm _| AW© H$s g~go N>moQ>r BH$mB`m| H$m AÜ``Z (^mfm {dkmZ _| gm_mÝ`)

4. g§`moOZ Ho$ {Z`_ d. EH$ à{H«$`m Omo h_| _m¡OyXm VËdm| H$mo {_bmH$a ZE eãX `m AW© ~ZmZo H$s AZw_{V XoVr
h¡

5. ê${n_ e. EH$ ^mfm àUmbr Omo {Z`_m| Ho$ EH$ goQ> Ho$ _mÜ`_ go Agr{_V g§»`m _| gVhr ê$nm|
Am¡a AWm] H$s AZw_{V XoVr h¡

Hy$Q> :
1 2 3 4 5
b d e a c

Match List – I with List – II and select the correct answer by using the code given below
the lists.

List – I List – II
1. Primitives a. The guidelines or principles that describe how simpler units can be

combined to form larger structures (e.g., words, phrases, sentences)
2. Means of b. The smallest units of

Combination meaning that cannot be broken down further
3. Infinite languages c. The study of the smallest units of meaning in a language (common

in linguistics)
4. Rules of d. A process that allows

Combination us to form new words or meanings by combining existing elements
5. Morphemes e. A language system that allows for an unbounded number of surface

forms andmeanings through a set of rules

Code :
1 2 3 4 5
b d e a c

77.
H$åß ỳQ>a {gñQ>_ _| A§H$J{UV VH©$ BH$mB© (E.Eb. ỳ.) Š`m H$aVr h¡ ?
A§H$J{UVAm¡a ~y{b`Zbm°{OH$b JUZm H$aVr h¡

What does the Arithmetic Logic Unit (ALU) in computer system do ?
Performs arithmetic and Boolean logical calculations

78.
g§{jßV Zm_ ỳ.Eg.~r. H$m Š`m AW© h¡ ?
`y{Zdg©b gr[a`b ~g

What does the acronym USB stand for ?
Universal Serial Bus
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79. E_.Eg.-EŠgob 2007 dH©$erQ> _| n§pŠV`m| H$s A{YH$V_ g§»`m {H$VZr h¡ ?
1,048,576
What is the maximum number of rows in an MS-Excel 2007 worksheet ?
1,048,576

80.
g|Q́>b àmogoqgJ ẁ{ZQ> (gr.nr. ỳ.) H$s _yb g§JUZm BH$mB© H$mo Š`m H$hVo h¢ ?
H$moa

The basic computation unit of the Central Processing Unit (CPU) is known as
Core

81.
gmaZmW Ho$ AemoH$ ñV§̂ _| {ZåZ{b{IV _| go H$m¡Z-gm new Zht nm`m OmVm h¡ ?
~mK

Which of the following animal is not found in the Ashokan Pillar of Sarnath ?
Tiger

82.
CÎma àXoe _| Or.AmB©. Q>¡J CËnmXm| Ho$ ~mao _| {ZåZ{b{IV _| go H$m¡Z-gm ẁ½_ ghr gw_o{bV Zht h¡ ?
AmJam - hñV{Z{_©V H$mbrZ

Which of the following pair is not correctly matched about GI tag products in Uttar Pradesh ?
Agra – Handmade Carpets

83.
XodZmJar {b{n H$m {dH$mg {H$g {b{n go hþAm h¡ ?
~«m÷r {b{n

Devanagari Script is developed from which Script ?
Brahmi Script

84.
"{b§p½dpñQ>H$ gd} Am°\$ B§{S>̀ m' Ho$ boIH$ H$m¡Z h¢ ?
Om°O© A~«mh_ {J«`g©Z

Who is the author of ‘Linguistic Survey of India’ ?
George Abraham Grierson

85. {ZåZ{b{IV _| go H$m¡Z-gr h[ad§e am` ~ÀMZ H$s à{gÕ aMZm h¡ ?
_Ywembm

Which of the following is famous composition of Harivansh Rai Bachchan ?
Madhushala

86.
VmO_hb H$s nwamVmpËdH$ `moOZm {H$gZo V¡̀ ma H$s Wr ?
CñVmX Ah_X bmhm¡ar

Who has prepared archaeological plan of Taj Mahal ?
Ustad Ahmed Lahori
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87.
CÎma àXoe Ho$ {ZåZ{b{IV _| go {H$g eha H$mo 2023 _| ^maV H$m Vrgam gd©loîR> ñ_mQ>© eha Kmo{fV {H$`m J`m h¡ ?
AmJam

Which of the following city of Uttar Pradesh has been declared the third best Smart City of
India in 2023 ?
Agra

88.
CÎma àXoe amÁ` n ©̀Q>Z {dH$mg {ZJ_ ( ỳ.nr.Eg.Q>r.S>r.gr.) H$s ñWmnZm ________ _| hþB© Wr &
1974
The Uttar Pradesh State Tourism Development Corporation (UPSTDC) was established in
1974

89.
CÎma àXoe amÁ` O¡d {d{dYVm ~moS>© H$s ñWmnZm H$~ hþB© Wr ?

28 {gV§~a, 2006

When was Uttar Pradesh State Biodiversity Board established ?
28 September, 2006

90.
CÎma àXoe Ho$ {ZåZ{b{IV {M{‹S>̀ mKam| _| go {H$gH$m Zm_ ehrX Ae\$mH$ Cëbmh ImZ àmUr CÚmZ h¡ ?
JmoaInwa {M{‹S>`mKa

Which of the following Zoo of Uttar Pradesh is named as Shaheed Ashfaq Ullah Khan
Zoological Park ?
Gorakhpur Zoo

91.
{ZåZ{b{IV _| go H$m¡Z-gm CÎma àXoe H$m Xygam hmWr [aµOd© h¡ ?
VamB© hmWr [aµOd©

Which of the following is second Elephant Reserve of Uttar Pradesh ?
Terai Elephant Reserve
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92.
gyMr – I H$mo gyMr – II go gw_o{bV H$s{OE Am¡a gy{M`m| Ho$ ZrMo {X ò J ò Hy$Q> H$m à`moJ H$aHo$ ghr CÎma Mw{Z ò &

gyMr – I gyMr – II

(n[a`moOZmE±) (Z{X`m±)

1. AmJam ~¡amO n[a`moOZm a. am_J§Jm ZXr

2. amOKmQ> ~m±Y n[a`moOZm b. `_wZm ZXr

3. ~Xm ỳ± qgMmB© n[a`moOZm c. nJZ ZXr

4. H$Ýhma qgMmB© n[a`moOZm d. ~oVdm ZXr
Hy$Q> :
1 2 3 4
b d a c

Match List – I with List – II and select the correct answer by using the code given below
the lists.

List – I List – II
(Projects) (Rivers)

1. Agra Barrage a. Ramganga river
Project

2. Rajghat Dam b. Yamuna river
Project

3. Budaun Irrigation c. Pagan river
Project

4. Kanhar Irrigation d. Betwa river
Project

Code :
1 2 3 4
b d a c

93.
H¥${f Cn`moJ Ho$ {bE ^maV gaH$ma Ûmam {ZåZ{b{IV _| go H$m¡Z-gm/go agm`Z à{V~§{YV {H$`m J`m h¡ ?
Cn`w©ŠV g^r

Which of the following chemicals is/are prohibited by Government of India for agricultural
usage ?
All of the above

94.
\$mBZmpÝe`b Q>oŠZmobm°Or H$ånZr (Paytm) H$m _w»`mb` H$hm± h¡ ?
ZmoES>m, CÎma àXoe

Paytm (Financial Technology Company) is headquartered in
Noida, Uttar Pradesh

95. CÎma d¡{XH$ ẁJ _| CÎma àXoe H$mo {H$g Zm_ go OmZm OmVm Wm ?
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A) Am¡a B) XmoZm|

In the later Vedic Age, Uttar Pradesh was recognized by which name ?
Both A) and B)

96. CÎma àXoe {dYmZg^m Ho$ dV©_mZ AÜ`j H$m¡Z h¢ ?
gVre _hmZm

Who is the present Speaker of Uttar Pradesh Legislative Assembly ?
Satish Mahana

97. _h{f© dmë_r{H$ A§Vam©îQ́>r` hdmB© AÈ>m H$hm± pñWV h¡ ?
A`moÜ`m Ym_, CÎma àXoe

Maharshi Valmiki International Airport is situated at
Ayodhya Dham, Uttar Pradesh

98. gyMr – I H$mo gyMr – II go gw_o{bV H$s{OE Am¡a gy{M`m| Ho$ ZrMo {X ò J ò Hy$Q> H$m à`moJ H$aHo$ ghr CÎma Mw{Z ò &
gyMr – I gyMr – II
(g§ñWmZ) (ñWmZ)

1. H|$Ðr` ~H$ar AZwg§YmZ a. bIZD$
g§ñWmZ

2. H|$Ðr` _doer AZwg§YmZ b. _Wwam
g§ñWmZ

3. amîQ´>r` _Ëñ` AmZwd§{eH$ c. BÁOV ZJa
g§gmYZ ã ỳamo (~aobr)

4. ^maVr` new {M{H$Ëgm d. _oaR>
AZwg§YmZ g§ñWmZ

Hy$Q> :
1 2 3 4
b d a c

Match List – I with List – II and select the correct answer by using the code given below
the lists.

List – I List – II
(Institutions) (Locations)

1. Central Institute for a. Lucknow
Research on Goats

2. Central Institute for b. Mathura
Research on Cattle

3. National Bureau of Fish c. Izzat Nagar
Genetic Resources (Bareilly)

4. Indian Veterinary d. Meerut
Research Institute

Code :
1 2 3 4
b d a c

99.
^maV _| {ZåZ{b{IV _| go H$m¡Z-gm hdmB© AÈ>m g§ñH¥$V _| KmofUm H$aZo dmbm nhbm hdmB© AÈ>m ~Z J`m h¡ ?
bmb ~hmXwa emñÌr A§Vam©îQ´>r` hdmB© AÈ>m, dmamUgr
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Which of the following airport in India became the first to make announcements in Sanskrit ?
Lal Bahadur Shastri International Airport, Varanasi

100.
~wÕ Zo AnZm nhbm CnXoe H$hm± {X`m Wm ?
gmaZmW

Buddha preached his first sermon at
Sarnath


